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Answer all the questions from three passages taken from two genres only.
Genre: Epic

Question 1. Homer Iliad 6.212-231

*Qs ¢paro, ynlnoey 3¢ Bonuv dyalbos Avouidns
éyxos pév karénnéev émi x0ovi movAuBorelpy,
alrap 6 pekixloiort mpoanida woruéva Aadby'

215 “9) pa v pou E€lvos warpwids éool malalds®
Olvevs yap more dlos apduova BeAlepopovrny
felvio” &vi peydpoioy eelkooww Nuatr’ épviéas
ol 8¢ kal aAAgAoia: wdpor Eewria kard®
Olvevs pev (wornpa ddov ¢olvixt Paevdy,

220  BeAhepodpdvrns 8¢ xpvoeor déwas audpikimeldov,
xal uw éyw xatélevmov lwy év dduag éuotot.
Tvdéa & ob uéuvmuas, émel w’ érv rurfov édvra
kaA\Ap’, 67 év OfBnow dndAero Aads Axaidy.
T viy ool utv éyw Eelvos pllos "Apyei péoow

225 elpl, ov & év Avkin, 8te kev Tdv dfuov Tkwpat.
Eyxea 8 dAAAwy dAedpeba kal 8’ Sullov:
moAhol uev yap éuol Tples kherrol 1 émikovpo,
ktelvew v ke Oeds ye wlpyn kal mooatl xixelm,
moAAol O ad ool 'Axatol évaipéuer Bv ke dvvnai.

230  tevxea O aAAfAots émapeiJropner, dppa xal oide
yréow Oti Eelvol marpdior evxdued elvai”

(a) What do we learn from this passage about Egvia? [3 marks]

(b) What was the relationship between Oeneus and Diomedes and between

Bellerophon and Glaucos? [4 marks]
(c) Scan lines 227-228 (ToANOL pev yap ... TOTaL KiXelm,). [2 marks]
(d) Translate TeUxea & aAAfAots ... ebxoued’ ctvat.” (lines 230-231). [3 marks]
(e) What amusing comment does Homer make immediately after this passage? [3 marks]
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Genre: Epic

Question 2.

(@)

(b)

(©)

(d)

(e)
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Homer Iliad 6.279-296

GANG oV ptv mpos vmov S Alnvains dyelelns

Epxev, éyd Ot Ilapiy uereledoopatl, ddpa karérow,
¥ Y apn/ k] 7 ’ h) 14 4 4 € )

al & €0é\no elmovros akoveuey' @s ké ol avde

yala xdvor uéya yap wiy "ONdumios érpepe mijua

Towol Te kal Hpudpw peyaliropt Told Te watoiv,
el kelwdv ye Wout karer@dvr “Aidos elow,

balny ke ppév’ arépmov di(Yos éxhelabéofar.”

*Qs Epal’, N 8¢ poloboa morl péyap’ dupimdlolo

kéxhero Tal & &p’ adAMiooav Kkatd 4oTV yepalds.
adry) & és Balapov kareBroero knwevra,

¥ 3 ¥ € 4 ’ ¥ ~
&0 Eoay ol mémhol maumoixihot, épya yuraikdy
Sidovlwy, Tas alros "ANéEavdpos Beoedns

fiyaye Sdovinbev, émmhas elpéa mdyrov,

\ [ Ay < 14 3 / b ] 14 »
™y 000y v "EAévny wep avnyayey evmarepeiay
@y & depapévn ‘ExdfBn dpépe ddpov *Abnuy,
ds kdA\ioTos Eny wowklApaaw 70& uéyiaros,
dorp 8 Os dmélapmert Exkewro 0¢ velaros aAAww.
B7 & lévar, ToAhal 3¢ uereoaelovro yepaial.

GANG oV pED ... %’pxev, (lines 279-280). Who is speaking here and for
what immediate purpose? [3 marks]

¢yd 3¢ Mapw ... ¢chelabéofar® (lines 280-285). What is the
speaker’s attitude to Paris? What would he like to see happen to Paris?
Suggest two reasons, not stated here, for his attitude. [4 marks]

Translate *Qs épald’, 1) 8¢ poloboa ... yepaids, (lines 286-287). [3 marks]

Who was 'AMNE cfcwﬁpos- (line 290)? How had he contributed to the
women’s ritual? Why was the reference to ‘E)\E’vm} (line 292) significant in

that context? [3 marks]
Scan lines 294-295 8s kdAAioTos ... &AAww. [2 marks]
Turn over
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Genre: Historiography

Question 3. Thucydides 2.39.1-2

“Atadépoper d¢ kal Tals TOV ToNewkOY peléTais TGOV
dvavriwy Tolode. ™y Te yap WONW kowny Tapéxouer, Kal
3 of %4 ’ 2 ’ / o / A
otk Eotw Gre fevmacias dmelpyouéy Twa ) pabdiuaros 1)
Oedpatos, b un kpudlev dv Tis TOV Toleulwy dwy wdeln-
5 Oeln, moredovres ol Tals mapackevals TO TAEOY Kal ATATALS
A ~ e I IR I S 3~ 3 N 3 / Vo) ~
7 TO ad NudY aurdyr és TA €pya €X' Kal €r Tals
s [4 N ! 4 ) / 3 \ ! ¥ by pl

maelais ol péy émimive Aoknoel €8s véol OvTes TO Av-
Opetov perépyovral, Nuels 3¢ euévws dairduevol ovdew

n ~ ~ /
nNoooy érl Tovs loomalels kwdUVovs YwpoDuey.  TEKUNPLOY
10 3¢ ovre yap Aaxedayudvior kal éavrols, meld amdvrov 8¢

~ ~ / ~

és ™y yiv Hudv oTparedovot, Y Te TOV Wélas avlrol
émeNfovres oD Yalemds év T da\\otpla Tovs wepl TGOV

/ ~
olkelwy Guuvouevovs paydueror T0 mAElw Kparoluev.

(a) What is the purpose of this speech and how was praise of Athens relevant to
that purpose? [2 marks]

(b) Translate ‘ Aiadépouer 3t kal Tals TOV TONeUIkBY meAETaLS
TV évavtiwy Tolode. (lines 1-2). [3 marks]

(c) From what two Greek words is fﬂ)’r,rkacfms' (line 3) derived? Where was
it practised? [3 marks]

(d) TovUs TEPL TOV olkelwy &Mvvopévovg (lines 12—13). What is Pericles
claiming that Athenians can do to these people? Why is it significant for his
basic purpose? [3 marks]

(e) Choose from this passage two ways in which Pericles claims that the Athenians
are superior to the Spartans, and comment briefly on each of them. In answering
this question you may develop points you have made above. [4 marks]
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Genre: Historiography

Question 4.

10

Thucydides 2.44.1-3

< )y o \ \ -~ ~ / (4 d 3,
AV 8mep kal Tovs TGvde viv Tokéas, ool mapeaTe, 0VK
b/ / [ N 4 3 4 o
oAogvpopal uarioy n wapapvlnoopat. €y mwoAUTPOTOLS VAP
~ 3 7 ! \ ) 3 ! A A ~
Svpopats émioravrar Tpagpévrest 10 & edruyes, of av TS
eUTpeTerTATNS NaXwow, Gomep olde wév viv, TehevtHs, Vuels
0& NUmns, kat ols évevdaipovijoal Te 0 [Blos opolws kal év-
Tehevrioar Euveperpnln.  yalewov ptv oly olda welbew dv,
° v ! of ¢ 4 h) b pJ [T, P
&y kal moANdkis €fere vmopvipuara & AA\wy eltvyiaws, als
more kal avrol NydAAecle xal Admm ody dv av Tis )
/ b ~ y: p) ] GEEEN 10N ’
wepacapevos ayaddy oreploknral, aAN o av édas yevo-
pevos apapedf. kaprepeiv d€ xp1 kal dA\wy Taldwy EATIOL,
ols érv nAikia Térvwow molelobalr

(a)

(b)

(c)

(d)

(e)

2210-2954

To which group of people is this part of the speech specifically directed?
Give two other parts of this speech which were, in your opinion, likely to have
been well or ill received by the original audience.

oUk SAogdpopar palov 4 wapapvlicouar. (lines 1-2). What is the
difference between these terms? Explain Pericles’ stated preference.

als mor¢ kal adrol 7fydA\ecfe (line 7-8). Explain the poignancy of
these words.

Translate kal A7 ovX ... adaipedi. (lines 8-10).

KapTepetv € xp1 ... mwoielaBars (lines 10-11).  What is Pericles’
suggestion here?  Assess how it might have been received by the
original audience.

[3 marks]

[3 marks]

[3 marks]

[3 marks]

[3 marks]

Turn over



Genre: Tragedy

Question 5.

(a)

(b)

(©)

(d)

(e)

2210-2954
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Sophocles Oedipus Tyrannus 14-30

aAA’, @ kpatOvay Oldinoug ympag EURg,
6pdig pev fudg NAikol Tpoonpedo
Bopoiot toig coig, of pév oV8En® pLakpav
ntécBatl oBévovteg, ol 6€ Vv yNpat Bapeis:
{epevg &y pév Znvoe, oide T NibEwv
Aextol 10 & dAAo pdlov Eecteppévoy
dyopaiot Bakel, mpdg te ITaAAadog dimAiolc
vaolg, én’ “Tounvod te pavreial omoddi.
oA yap, domep xkavtog eioopdig, Gyav
0N carevet, kdvakovpioal képa

Bubdv &1’ ovy ofa te olviov calov,
pOivovoa [EV xAALELY EykapTolg 1 Bovac,
pOlvovoa 8 dyéloig Bouvdpolg toxoloi te
Gyovotg yovatk@®@v' év 8§’ 6 muppopog Beog
oKNyag EAaOVEL, Ao1pog Exybiotog, ToALY,
0@’ 00 xevoital ddpa Kadpeiov, pélog

&’ "Ad1g otevaypolc xaul ydoig mAovtifetal.

Who is speaking these words to whom? What is he trying to achieve?

Give two examples of the effective use of rhetorical devices from this passage
and explain them.

pOivovoa LEV ... yovaik®y" (lines 25-27). What three examples of
evidence of blight are mentioned here? You may refer to words treated elsewhere
in your answers.

Scan lines 25-26 (pOivovoa LEV . .. TOKOLO1 TE).

Translate £€v &’ O mupopog Beog ... Kadueilov, (lines 27-29).

[3 marks]

[4 marks]

[3 marks]

[2 marks]

[3 marks]



Genre: Tragedy

Question 6.

(a)

(b)

(c)

(d)

(e)

2210-2954
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Sophocles Oedipus Tyrannus 1132-1154

Ay.

1135

1140

1145 Ay,

1150 Q.

Oe.
O

xovdév ye fadua, décmor’. dAA’ éyw caddic
dyvdT dvauviicw viv. €U ydp 0l8 6L
kdToev quoc 1ov Kilawpdvoc rémov

0 wév Sumdoict mowuvioic, éyw 6 évi

émAncialov T@8e Tavdpi Tpeic SAouc

¢ fpoc elc dpxTolpov éxurivouc xpdvouc
xeudve 8 140n rdud 7 elc émavd’ éyw
fiAavvoy outdc 7' éc Td Aaiov cralud.
Aéyw 11 ToUTWY, 1) 0U Aéyw mempayuévoy;
Aéyeic aAnln, xaimep éx paxkpov xpdvov.
bép’ €imé vuy, 767" olcla maidd pol Tva
Sovc, Wc éuavtd OBpéupa pedaiuny éyw;
i 8" écmi; mpdc i ToUTo ToUMOC (CTOPELC
68’ éctiv, W Tdv, reivoc §c 187 v véoc,

oUk €ic 6Aelpov; o cwmicac écy;

d, un kéAale, mpécBu, T6v8’, émel Td ca
deiral koAacToU udAdov 7 Td o8’ émn.

i 8, W pépicte SecmoTdy, duaprdvw,

oUk évvémwy Tov maid’ §v ovToc icTopel.
Aéyer yap elbac 0vbéy, dAX’ dAAwc movel.
cU mpdc xdptv wév ovk épeic, kAalwy 8’ épeic.
un 8ita, mpoc Bedv, Tov yépovrd u’ aikicy.
oUy wc Tdyoc Tic Toud dmocTpéfer xépac;

Explain what the “AyyEAoc knows and does not know, and why the
@SQdTC(DV is afraid to reveal what he himself knows. [4 marks]

Identify three places in this passage (giving the Greek text in each case) where
Oedipus reveals something of his character. [3 marks]

Identify three attempts by the @Sgdﬁmv to avoid having to tell what

he knows. [3 marks]
Scan lines 1151-1152 (Aéyer ydp ... €peic.). [2 marks]
Translate u7) 877a, ... dmoctpéfel xépac; (lines 1153-1154). [3 marks]

Turn over
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Genre: Comedy

Question 7. Aristophanes Frogs 193-207

XAPON
£ ’ ~ N 7/ /
ovkovr Tepilpéfel Sijra Ty Ny Tpéxwr;
SEANGOIAX
mol 8fr dvauerd;
XAPQN
mapa TOv Adaivov Aifov,
émi Tals dvamavlals.
AIONT2O0X
4
pavbfdves;
HANGOIAS
195 mdvy pavfdrw.
3 * -~ 7 3 ’
olpor kakobatpwy, T Evvéruyov éEudy;
XAPON
d 3 3 \ / 3 E4 ~ /4
k[ éml komnr, € Tis €T TAEL, omevdéTw.
obTos, Ti moLels;
AIONTXOX
§ 1 moud; 7L & dAho a
3 3N ’ Gl 3 4 /2 rd
Ulw ‘m kadmmy, olmep éxéhevés pe av;
XAPON
200 ovkovr kalfebel dnr évhaldl, ydorpwy;
AIONTZOS,
i80v.
NAPAON
3/ ~ \ ~ 3 ~
ovkovr mpofalel 7a) YEIpe KAKTEVELS;
AIONTEOS
i8ov.
XAPQN
ov un plvapioes éxwr, AN dvrBas
é\as mpolipws.
AJONTEOX
kata mas Suricopat
dmewpos, dfaldrrevros, doakauivios
v €lr éNadvew;
XAPON
205 paoT akovoel yap wéNn
ko7, émedav éufBdins dmaf.
ATONTIOS
Tivar;
XAPON
Barpdxwr kikror Gavpaord.
AIONTIOX
kaTaké\eve 0.

2210-2954



(a)

(b)

(c)

(d)

(e)

2210-2954
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Identify the three characters in this passage and explain what each is trying
to achieve.

Choose any two moments in this passage, excluding line 204, when the
contemporary audience would, in your opinion, have laughed, and explain how
each achieves its effect.

Translate 7mo0 017 dvauerd; ... pavfdvess; (lines 194-195).

dmrepos, afakdrTevros, doalamivios (line204). Explain the rhetorical
effect of these words. To what does acalauivios refer?

Scan lines 205206 (v €lr eENalvew; ... Tivww;).

[3 marks]

[4 marks]

[3 marks]

[3 marks]

[2 marks]

Turn over



Genre: Comedy
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Question 8. Aristophanes Frogs 1379-1392

1380

1385

1390

2210-2954

AIONTSOS,
\ Ve \ [ 3Fa) 3 [ / 3f
kat AaSBouéve 70 pHu’ éxdrepos elmatov,
kot pm pednobor, mplv dv éyw oddy Kokkvow.
AISXTAOS Kal ETPIINIAHS

éxouela.

AIONTIOS
Tovmos vuv Néyerov els Tov oTaludv.

ETPIIIIAHS

«

€l ddeN’ Apyods un duarrdobar oxddos.”
AIZXTAOZ

“Sarepxewe moraue SBovwvouol T émoTpodal.”
AIONTEOS

KOKKY.

AISXTAOY kal ETPIIIAHSY
pebeirac.
" AIONTXIOZX
N ’ i
Kkal TOANU Y€ KATWTEPW
Ywpel 70 ToUdE.
' ETPINTAHS
xal 7L woT éoTi TalTiov;
AIONTEOX
< 3 4 / 3 ~
8 Ti; eloéOnre moraudy, éplomwhikds
Uypor mouaas ToUTos WoTEp TApLd,
oV & eloébnras Tolmos émrepwuévor.
ETPIIIIAHS
dAN" Erepov elmdTw TL KAVTLOTNOATW.
AIONTXOX
NdBecbe Toivvr adbs.
AISXTAOS kai ETPINIAHS
3 > /
Av 18ov.
AIONTIOX
Néve.
ETPIIIIAKE
“ovk €ori etfols iepov d\ho mAnv Adyos.”
AISXTAOS

« 7 - \ , Ny > s
uovos Bedv yap Odraros ov Swpwr épa.



(a)

(b)

(©)

(d)

(e)

2210-2954
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This passage occurs during a competition. Name the contestants and the judge
and explain how the competition is conducted.

Choose from this passage an example illustrating a criterion by which the
competitors are judged, and comment on its humour.

eptomwAiics (line 1386). What does this word mean here? Explain the
humour of its original sense in this context.

Scan lines 1388-1389 (a0 O eloéfnkas ... KAVTLOTHTATW.).
Translate “ovk €oTi ... ddpwr €pd.” (lines 1391-1392).

[4 marks]

[3 marks]

[3 marks]

[2 marks]

[3 marks]

Turn over
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Genre: Philosophy

Question 9. Plato Crito 44c6—e2

(a)

(b)

(©)

(d)

(e)

2210-2954

Q. CAMNG T gply, @ pakdpie Kplrowv, ofre tis Tév
TOAGY dSns uéher; of yap émewéorarol, Gv parlov dfiov
bpovr(lew, Hynoovrar avrd olrw mwempaxfar domep av
wpax 0.

5 KP. AAX Spas d7) 8ri dvdyxn, & Sdkpares, kal tis OV
TOANGY d0Ens uéhew. avrd O¢ dfAa T wapdyra vurl 6ri olol
7 eloly of moAdol ol T opikpdrara TOV kakdy Efepydlerbal
GAAG Td péyioTa oyeddy, édv Tis v alrols diaBeSAnué-
vos 7).

10 =Q. Ei yap dperov, & Kpirov, olol 7 elvar ol wohAoi
ra péyiora kaxd Epyalecfal, tva ofol T foav kal dyabfd Ta

’ \ ~ORDA -~ TN > .

péyiora, kal kaAds dv elxer. viv & ovdéTepa olof Te' olre

N - O | \ ~ St 5 -
yap ppovipor ovre dppova dvvatol moifoal, mololot o€ TolTo

0Tt Qv TUXWOL
+ ~ . JACY
15 KP. Tabra utv O ofres éxéro: rade 3¢, @ Sdkpares,
€lmé pot

Ths TOY TOAABY 83&ns (lines 1-2). What was the §GEa to which Crito
has just referred, and why was it a matter of such concern to Crito but not
to Socrates?

adra 8¢ dMAa Ta mwapovra (line 6). To what do these words refer?
How does Crito hope to use them to persuade Socrates?

El yap &peov, ... dv elyev. (lines 10-12). Show how Socrates
cleverly uses Crito’s words to contradict him.

Translate v0v O¢ oUdérepa ... v TUXwoL. (lines 12-14).
~ T /A
Tadra utv O olrws éxéro- rade 8¢, & Zdkpares, elmé wot

(lines 15-16). What is Crito trying to achieve with these words? Show how he
uses a rhetorical device in an attempt to achieve his goal.

[3 marks]

[3 marks]

[3 marks]

[3 marks]

[3 marks]
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Genre: Philosophy

Question 10. Plato Crito 53a8—c5

(a)

(b)

(c)

(d)

(e)

10

15

1) / b / ~ N \ 3 !
Skdmer yap O, Talra mapaBds kal éapaprdvwy TU
N\

Tovrwy T dyafov épydon cavrov 17 Tovs émrndelovs ToUs
cavrob. 8T wev yap xwdvvebooval yé agov ol émridelor kal
3 \ / \ ~ ~ ’ N \ 3 3
avrol (evyew kal oTepnlnvai- TS MOAEws 1 THY ovoiay
) 4 ’ ~ J \ o\ ~ Y IN 3
amoéoal, ox€dov TL dNAov: avuros 0€ TPRTOY MEV €V €LS
~ N\ / N S
TOV éyylrard Twa wolewy ENOns, 7} OnPale 7 Méyapdde—
ebvopolyrat yap dudorepai—mroléuios féeis, @ Tdkpares, TH
ToUTey molrela, kal Booimep kNdovrar TOV alrdy woAEwy
vmoBAéyrovtal e dwapfopéa nyoduevor TOY vopwy, xal fBe-

/! ~ & ~ \ / (74 ~ 3 ~ \
Batdaets Tols dikaorals Ty d6fav, dare Ookely dpfds T
Olkny dikdaar: Soris yap vdpwy SiadBopels éoTw opddpa
mov ddeter v véwy ye kal oty dvlpdTwy dagpbopeds
elvat. mdrepov olv Ppevén Tas Te elvopovpévas mONes Kal
TGV Qdpdv Tovs koouiwTdTOUS; Kal TobTo TolodyTL Gpa Afidy

oco. (v éoral;

Who are speaking in this passage? What are they trying to achieve, and on what
general grounds?

6T pév yap ... oxeddy T OnAov: (lines 3-5). According to the
speakers here, what three punishments might Socrates’ friends face if they
helped him to escape?

On what grounds is it argued that Socrates would risk being a
TONéMLOS ... T ToUTwy moMiTelq, (lines 7-8) if he fled to a well
run state?

véwy ye kal dvonTwy avlpdmrwy dapbopevs (line 12). Why do you
think these words were placed here? What effect would they be likely to have
on Socrates?

Translate ““ Skdmwer yap &), ... Tovs cavrod. (lines 1-3).

[3 marks]

[3 marks]

[3 marks]

[3 marks]

[3 marks]
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